FUTAO METAL

PRODUCT
CATALOGUE

www.metalpole.org futaometal@gmail.com



TABLE OF
CONTENTS

Street Lighting Poles Page1-12 Contact Us Page 23

High Mast Lighting Page 13 -18
Poles

Utility Poles Page 19 - 22




STREET
LIGHTING
POLES




10M SINGLE ARM OCTAGONAL STREET
LIGHTING POLE (WITH SOLAR PANEL)

FT-01

10000

3500

1000

1

ANCHOR BOLTS

() FUTAO METAL

&

i o X

MAIN POLE

HEIGHT : 10M

NUMBER OF SECTIONS : 1

STEEL GRADE : Q235B

POLE SHAFT : OCTAGONAL

INSTALLATION TYPE : FLANGE CONNECTION
NUMBER OF ARMS : 1

ARM LENGTH : 1000MM

ARM DIAMETER : & 60

POLE THICKNESS : 4AMM

TOP DIAMETER : & 85

BOTTOM DIAMETER : & 190

WELDING STANDARD : AWS Dl.1
GLAVANIZATION STANDARD : ASTM A123 / EN ISO 1461

ANCHOR BOLTS & ACCESSORIES
BASEPLATE : 400X400X20MM
STIFFENER : TOX70X4MM

J-BOLT : M20X1000

o o 49 24*30 A~

400

LV v

400

T=20

STIFFENER BASE PLATE

01



10M DOUBLE ARM OCTAGONAL STREET
LIGHTING POLE (WITH SOLAR PANEL)

FT-02

X100

10000
~
il

L)

9500

I

- M20

1000

1 &
ANCHOR BOLTS

() FUTAO METAL

J

AJ%
=
=

STIFF

MAIN POLE

HEIGHT : 10M

NUMBER OF SECTIONS : 1

STEEL GRADE : Q235B

POLE SHAFT : OCTAGONAL

INSTALLATION TYPE : FLANGE CONNECTION
NUMBER OF ARMS : 2

ARM LENGTH : 1000MM

ARM DIAMETER : @ 60

POLE THICKNESS : 4MM

TOP DIAMETER : & 85

BOTTOM DIAMETER : @190

WELDING STANDARD : AWS Dl1.1
GLAVANIZATION STANDARD : ASTM A123 / EN ISO 1461

ANCHOR BOLTS & ACCESSORIES
BASEPLATE : 400X400X20MM
STIFFENER : TOX70X4MM

J-BOLT : M20X1000

T=20
i
K
-

ENER BASE PLATE

02



12M DOUBLE ARM OCTAGONAL STREET
LIGHTING POLE (WITH SOLAR PANEL)

FT-03

12000

9500

1000

1

ANCHOR BOLTS

() FUTAO METAL

&

MAIN POLE

HEIGHT : 12M

NUMBER OF SECTIONS : 2

STEEL GRADE : Q235B

POLE SHAFT : OCTAGONAL

INSTALLATION TYPE : FLANGE CONNECTION
NUMBER OF ARMS : 2

ARM LENGTH : 1000MM

ARM DIAMETER : @ 60

POLE THICKNESS : 4AMM

TOP DIAMETER : @ 95

BOTTOM DIAMETER : & 195

WELDING STANDARD : AWS Dl1.1
GLAVANIZATION STANDARD : ASTM A123 / EN ISO 1461

ANCHOR BOLTS & ACCESSORIES
BASEPLATE : 400X400X20MM
STIFFENER : TOX70X4MM

J-BOLT : M20X1000

g
.
a
.

T=20

STIFFENER BASE PLATE



9M SINGLE ARM CONICAL STREET LIGHTING
POLE (WITH SOLAR PANEL)

FT-04

600

L

il

3004

Fog

-M10 NUTS
3-M10=25 BOLTS

p— —

2605100

[ 30

BASE PLATE

(1) FUTAO METAL

MAIN POLE

HEIGHT : OM

NUMBER OF SECTIONS : 1

STEEL GRADE : Q235B

POLE SHAFT : CONICAL

INSTALLATION TYPE : FLANGE CONNECTION
NUMBER OF ARMS : 1

ARM LENGTH : 1500MM

ARM DIAMETER : @ 60

POLE THICKNESS : 3.5MM

TOP DIAMETER : @ 90

BOTTOM DIAMETER : @ 190

WELDING STANDARD : AWS Dl1.1
GLAVANIZATION STANDARD : ASTM A123 / EN ISO 1461

ANCHOR BOLTS & ACCESSORIES
BASEPLATE : 400X400X20MM
STIFFENER : TOOX50X5MM

J-BOLT : M20X2000

ANCHOR BOLTS %

EARTHING LUG & BOLTS

STIFFENER

04



4AM SINGLE BENT ARM STREET LIGHTING POLE

FT-05
1500
i DhEx2S
i I
! b
1 & ™ 60
. ~y
:
!
! i
i !
i !
= i !
g i |
i !
i !
i !
i !
i !
! |
2 ! ! 2
E H : 2
i !
i !
i !
i !
1 |
i 50 LN gasket
HA : /{:3 d the doar
i = |
=k 2 b
! \-dt:'rri:ad bar
H ®6 hale center
=]
Tl
AT I
2100 |#1{Ilﬂl

BASE PLATE

(\)) FUTAO METAL

MAIN POLE

HEIGHT : 4M

NUMBER OF SECTIONS : 2 (Pole Shaft + Arm Bracket)
STEEL GRADE : Q235B

POLE SHAFT : CONICAL

INSTALLATION TYPE : FLANGE CONNECTION

NUMBER OF ARMS : 1

ARM LENGTH : 1500MM

ARM DIAMETER : @ 60

POLE THICKNESS : 3MM

TOP DIAMETER : @ 90

BOTTOM DIAMETER : & 100

WELDING STANDARD : AWS D1.]

GLAVANIZATION STANDARD : ASTM A123 / EN ISO 1461

ANCHOR BOLTS & ACCESSORIES
BASEPLATE : 248X248X16MM
STIFFENER : TOOX50X5MM

J-BOLT : M18X600

b
5
=
g

5

-

1500

ARM BRACKET
120

ARM BRACKET
THUTS
7 WASHERS ;
=
e S —
Add
ANCHOR BOLTS

05



6M SINGLE BENT ARM STREET LIGHTING POLE

FT-06

5100

L60d

¥

. e .t e et i e 1 . B e b S e

Ta 3 OMM

i mimmimmimimimaee—i—ioimioges

rubber gasket

arroend the door

M-atacinical bar
w6 hole cenfer

—

p o 7y

P
(=1
4

1

1
174
248

L9458

() FUTAO METAL

BASE PLATE

L&

sFEe 1

MAIN POLE

HEIGHT : 6M

NUMBER OF SECTIONS : 2 (Pole Shaft + Arm Bracket)
STEEL GRADE : Q235B

POLE SHAFT : CONICAL

INSTALLATION TYPE : FLANGE CONNECTION

NUMBER OF ARMS : 1

ARM LENGTH : 1000MM

ARM DIAMETER : @ 60

POLE THICKNESS : 3MM

TOP DIAMETER : & 60

BOTTOM DIAMETER : @ 125

WELDING STANDARD : AWS D1.]

GLAVANIZATION STANDARD : ASTM A123 / EN ISO 1461

ANCHOR BOLTS & ACCESSORIES
BASEPLATE : 248X248X16MM
STIFFENER : TOOX50X5MM

J-BOLT : M18X600

1000

1500

ARM BRACKET
2x13-M8) 1:20
1|/ mewzs
| 8a
o3
ARM BRACKET
4 HUTS
2 wWASHERS —
| =
S00
ANCHOR BOLTS

06



8M SINGLE BENT ARM STREET LIGHTING POLE

FT-07

1500

23 M|
Mil25

aL00

6300

/rza.nr-m

120

300

\'Elﬂtlrlm'l bar

Lalhs

1
@180

&0

1 hole for
€arthing cable 125

() FUTAO METAL

MAIN POLE

HEIGHT : 8M

NUMBER OF SECTIONS : 2 (Pole Shaft + Arm Bracket)
STEEL GRADE : Q235B

POLE SHAFT : CONICAL

INSTALLATION TYPE : FLANGE CONNECTION

NUMBER OF ARMS : 1

ARM LENGTH : 1500MM

ARM DIAMETER : @ 75

POLE THICKNESS : 6MM

TOP DIAMETER : & 90

BOTTOM DIAMETER : @ 180

WELDING STANDARD : AWS D1.]

GLAVANIZATION STANDARD : ASTM A123 / EN ISO 1461

ANCHOR BOLTS & ACCESSORIES
BASEPLATE : 400X400X20MM
STIFFENER : TOOX50X5MM

J-BOLT : M24X900

L0

ANCHOR BOLTS

07



12M SINGLE BENT ARM STREET LIGHTING POLE

FT-08

!'

T

\Ni.um

12009

Ted T5HM

9800

() FUTAO METAL

MAIN POLE

HEIGHT : 8M

NUMBER OF SECTIONS : 2 (Pole Shaft + Arm Bracket)
STEEL GRADE : Q235B

POLE SHAFT : CONICAL

INSTALLATION TYPE : FLANGE CONNECTION

NUMBER OF ARMS : 1

ARM LENGTH : 1500MM

ARM DIAMETER : @ 75

POLE THICKNESS : 6MM

TOP DIAMETER : & 90

BOTTOM DIAMETER : @& 180

WELDING STANDARD : AWS D1.]

GLAVANIZATION STANDARD : ASTM A123 / EN ISO 1461

ANCHOR BOLTS & ACCESSORIES
BASEPLATE : 400X400X20MM
STIFFENER : TOOX50X5MM

J-BOLT : M24X900

ARM
DIRECTION

G-028x54

BASE PLATE

WASHER

150

ANCHOR BOLTS

08



6M DOUBLE ARM STREET LIGHTING POLE

FT-09

el
-|TI-
‘\\-m.umm
! |
L
‘ 100
a1l
T
$ L ‘,
A1 7
' |
1182 ]
200
1:20
180 T=18KM
A1 F\"1
L e
==
& -
stiffemer
80°120*10mm—" | A -
-l L
L \\—4-2525'50
400
BASE PLATE

() FUTAO METAL

MAIN POLE

HEIGHT : 6M

NUMBER OF SECTIONS : 2 (Pole Shaft + Arm Bracket)
STEEL GRADE : Q235B

POLE SHAFT : CONICAL

INSTALLATION TYPE : FLANGE CONNECTION

NUMBER OF ARMS : 2

ARM LENGTH : 1500MM EACH

ARM DIAMETER : @ 60

POLE THICKNESS : 4MM

TOP DIAMETER : & 60

BOTTOM DIAMETER : @ 180

WELDING STANDARD : AWS D1.]

GLAVANIZATION STANDARD : ASTM A123 / EN ISO 1461

ANCHOR BOLTS & ACCESSORIES
BASEPLATE : 400X400X16MM
STIFFENER : 80X120X10MM

J-BOLT : M24X500

ARM BRACKET

2 MUTS
2 WASHEH

500

ANCHOR BOLTS

09



/M DOUBLE ARM STREET LIGHTING POLE

FT-10

5458

" Ta35HH

350

\-a.-wﬂxr.u

BASE PLATE

(\)) FUTAO METAL

MAIN POLE

HEIGHT : 7M

NUMBER OF SECTIONS : 2 (Pole Shaft + Arm Bracket)
STEEL GRADE : Q2358B

POLE SHAFT : CONICAL

INSTALLATION TYPE : FLANGE CONNECTION

NUMBER OF ARMS : 2

ARM LENGTH : 1500MM EACH

ARM DIAMETER : & 60

POLE THICKNESS : 3.5MM

TOP DIAMETER : & 90

BOTTOM DIAMETER : & 165

WELDING STANDARD : AWS D11

GLAVANIZATION STANDARD : ASTM A123 / EN ISO 1461

ANCHOR BOLTS & ACCESSORIES
BASEPLATE : 350X350X16MM
STIFFENER : 150X80X6MM

J-BOLT : M16X650

20

T=6MM
N E
80
ANCHOR BOLTS STIFFENER



12M DOUBLE ARM STREET LIGHTING POLE

FT-T1

2100

11900

10000

A28%52
BASE PLATE

(\)) FUTAO METAL

4 15

SHCREEN
%

EARTHING LUG
& BOLT

MAIN POLE

HEIGHT : 12M

NUMBER OF SECTIONS : 2 (Pole Shaft + Arm Bracket)
STEEL GRADE : Q235B

POLE SHAFT : OCTAGONAL

INSTALLATION TYPE : FLANGE CONNECTION

NUMBER OF ARMS : 2

ARM LENGTH : 2500MM EACH

ARM DIAMETER : @ 60

POLE THICKNESS : 3.5MM

TOP DIAMETER : & 90

BOTTOM DIAMETER : & 205

WELDING STANDARD : AWS D11

GLAVANIZATION STANDARD : ASTM A123 / EN ISO 1461

ANCHOR BOLTS & ACCESSORIES
BASEPLATE : 400X400X20MM
STIFFENER : 160X70X6MM

J-BOLT : M24X900

00

(-

ARM BRACKET

M10+30 ;
|
e PR

[

STIFFENER ANCHOR BOLT

1



10M SINGLE ARM STREET LIGHTING POLE

FT-12

T=LMM

10000

9500

. eiectrical bar

() FUTAO METAL

WELDMG-_ |

DOoa=]

MAIN POLE

HEIGHT : 10M

NUMBER OF SECTIONS : 2 (Pole Shaft + Arm Bracket)
STEEL GRADE : Q235B

POLE SHAFT : OCTAGONAL

INSTALLATION TYPE : FLANGE CONNECTION

NUMBER OF ARMS : 1

ARM LENGTH : 1000MM

ARM DIAMETER : @ 60

POLE THICKNESS : 4MM

TOP DIAMETER : & 76

BOTTOM DIAMETER : @ 220

WELDING STANDARD : AWS DI.1

GLAVANIZATION STANDARD : ASTM A123 / EN ISO 1461

ANCHOR BOLTS & ACCESSORIES
BASEPLATE : 400X400X20MM
STIFFENER : 120X70X6MM

J-BOLT : M24X900

1
i
_____ T____.%_._ i gt
v H ’

/?:?BHH % t25
T2 ==Tuip 5@

i
i
F
|
i
PO SO I
i
I
It
Lig
i]rd

S 2-3x20xL50

- i
o —

Ei4] \hiaﬂiﬂuﬁﬁ

500 L

BASE PLATE ACCESS DOOR

-

70

EL"’;: —

ANCHOR BOLT

AN

m

STIFFENER

12



HIGH
MAST
LIGHTING

I \ O I < i N
I' b , : -‘&i ":-'- ': w /
\




12M HIGH MAST LIGHTING POLE (6 LAMPS)

MAIN POLE

HEIGHT : 12M(MAIN POLE) + 1.9M (LIGHTNING ARRESTER)
NUMBER OF SECTIONS : 1

STEEL GRADE : Q235A

POLE SHAFT : OCTAGONAL

INSTALLATION TYPE : FLANGE CONNECTION

LIGHTING CONFIGURATION : 6 LAMPS (FRONT FACING)
POLE THICKNESS : 5MM

TOP DIAMETER : @ 140

BOTTOM DIAMETER : @ 270

WELDING STANDARD : AWS D111

GLAVANIZATION STANDARD : ASTM A123 / EN ISO 1461

ANCHOR BOLTS & ACCESSORIES

BOTTOM BASEPLATE : @ 140 x 20MM
STIFFENER : 120X70X6MM

J-BOLT : M24X1200

TOP FLANGE : @ 300 x 16MM

LIGHTNING ARRESTER LENGTH : 1900MM
LIGHTNING ARRESTER FLANGE : & 150 x 1I0MM

Hi

HM =01
g
H =
140
|
|
E =300
B
=i
5] E
' 10
2600

(\)) FUTAO METAL

EE HI3, 3
43
&
6 LAMP g
BRACKET
TR i
' E
T
|l ?
L ‘) =
% e36 V| g el
o130
u.vim'u
LIGHTNING
BOTTOM FLANGE TOP FLANGE ARRESTER



16M HIGH MAST LIGHTING POLE (8 LAMPS)

HM -02

MAIN POLE

HEIGHT : 16M (MAIN POLE)

NUMBER OF SECTIONS : 2 (8280MM EACH SECTION)
STEEL GRADE : Q3558

POLE SHAFT : DODECAGONAL (12 SIDED)
INSTALLATION TYPE : FLANGE CONNECTION
LIGHTING CONFIGURATION : 8 LAMPS (CIRCULAR)
POLE THICKNESS : 5MM & 6MM

TOP DIAMETER : @ 220

BOTTOM DIAMETER : @ 500 |
WELDING STANDARD : AWS D11

GLAVANIZATION STANDARD : ASTM A123 / EN ISO 1461

=

=:1

x

1

8280 {Q3958,T=5)

ANCHOR BOLTS & ACCESSORIES

BOTTOM BASEPLATE : & 720 x 20MM

STIFFENER : 120X70X6MM

J-BOLT : M24X1200

LIGHTNING ARRESTER LENGTH : 1450MM X 16 MM

8 LAMP
BRACKET

§280 (G355, T=6)

300

138

SIDE VIEW

‘ BOTTOM FLANGE
() FUTAO METAL 14



18M HIGH MAST LIGHTING POLE (20 LAMPS)

HM -03

330

[ I0]

17632

i W

FRONT VIEW

() FUTAO METAL

MAIN POLE

HEIGHT : 17.63M(MAIN POLE) + 0.37M (LIGHTNING ARRESTER)
NUMBER OF SECTIONS : 2

STEEL GRADE : Q235B

POLE SHAFT : DODECAGONAL

INSTALLATION TYPE : FLANGE CONNECTION

LIGHTING CONFIGURATION : 20 LAMPS (FORWARD FACING)
TOP DIAMETER : @ 330

BOTTOM DIAMETER : @ 630

WELDING STANDARD : AWS D1.]

GLAVANIZATION STANDARD : ASTM A123 / EN ISO 1461
DESIGN STANDARD : AASHTO 2009

WIND RESISTANCE : 30M/S

AXIAL LOAD : 36kN

ANCHOR BOLTS & ACCESSORIES

BOTTOM BASEPLATE : @ 900 x 30MM
J-BOLT : M30X1500 (355Mpa)

15°

<694
Lo
=
=

—r__

SIDE BOTTOM
VIEW FLANGE



20M HIGH MAST LIGHTING POLE
(11 LAMPS WITH AUTO-LIFTING SYSTEM)

HM -04

1450

200

10280 (1=5)

360

20000

10280 {t=6)

i)

T
320

FRONT VIEW

() FUTAO METAL

MAIN POLE

HEIGHT : 20M (MAIN POLE)

NUMBER OF SECTIONS : 2

STEEL GRADE : Q235B

POLE SHAFT : DODECAGONAL

INSTALLATION TYPE : FLANGE CONNECTION
LIGHTING CONFIGURATION : 11 LAMPS (CIRCULAR)

* TOP DIAMETER : @ 200

BOTTOM DIAMETER : & 520
WELDING STANDARD : AWS D1.]

GLAVANIZATION STANDARD : ASTM A123 / EN ISO 1461
WIND RESISTANCE : 35M/S

ANCHOR BOLTS & ACCESSORIES
LIGHTNING ARRESTER HEIGHT : 1450MM
LIGHTNING ARRESTER THICKNESS : 16 MM

11 LAMP BRACKET

520

BOTTOM FLANGE

SIDE VIEW

16



30M HIGH MAST LIGHTING POLE

HM -05

MAIN POLE
HEIGHT : 30M

(450
il |
T:.... E{lt

STEEL GRADE : Q355B
POLE SHAFT : DODECAGONAL

TOP DIAMETER : @ 193
BOTTOM DIAMETER : & 546
WELDING STANDARD : AWS Dl.1

10400 (Q3538/T=6

NUMBER OF SECTIONS : 3 (10.4M EACH SECTION)

INSTALLATION TYPE : FLANGE CONNECTION
LIGHTING CONFIGURATION : 8 LAMPS (CIRCULAR)

GLAVANIZATION STANDARD : ASTM A123 / EN ISO 1461

ANCHOR BOLTS & ACCESSORIES
BOTTOM BASEPLATE : @ 850 x 30MM
J-BOLT : M30X1500 (GRADE 8.8)

=
=
BOTTOM LIGHTING
FLANGE BRACKET
E A 5I B oA 4 f“i %EI |
& I ¥
B
E
g
i{| "
A A
EN ‘
af."ﬂﬁ‘ = LI =y
- AQREA
SIDE i i
VIEW \Ti.f’fl?m
ANCHOR BOLTS

() FUTAO METAL

17



13.5M HIGH MAST LIGHTING POLE
(3 LAMPS WITH AUTO-LIFTING SYSTEM)

HM -06
MAIN POLE

HEIGHT : 13.5M

NUMBER OF SECTIONS : 2 (6980MM EACH SECTION)
STEEL GRADE : Q235B

POLE SHAFT : DODECAGONAL

INSTALLATION TYPE : FLANGE CONNECTION

LIGHTING CONFIGURATION : 3 LAMPS (CIRCULAR)
TOP DIAMETER : @ 180

BOTTOM DIAMETER : @ 400

WELDING STANDARD : AWS D11

GLAVANIZATION STANDARD : ASTM A123 / EN ISO 1461

6986

A5 ANCHOR BOLTS & ACCESSORIES
BOTTOM BASEPLATE : & 750 X 25MM
J-BOLT : M30X1500 (GRADE 8.8)

160

+3506

TS
- |

BOTTOM FLANGE

£980
T
&

SN

SIDE
3 LAMP BRACKET WITH VIEW

LIFTING MECHANISM

() FUTAO METAL 18



UTILITY




9M OCTAGONAL POWER POLE

EP -01

Tﬂgﬂw MAIN POLE
HEIGHT : 9M
NUMBER OF SECTIONS : 2
e SECTION 1: 4650MM X 3.8MM
e SECTION 2: 4650MM X 3.8MM
STEEL GRADE : S355JR
MAXIMUM LOAD : 1000KG
POLE SHAFT : DODECAGONAL
INSTALLATION METHOD : DIRECT EMBEDMENT
EMBEDMENT DEPTH : 1500MM
TOP DIAMETER : @ 120MM
BOTTOM DIAMETER : @ 225MM
WELDING STANDARD : AWS DI
| GLAVANIZATION STANDARD : ASTM A123 / EN ISO 1461

b
o

L650/5355JRx5.5T

o
A 5.5
o N /_ \
v it
el e T A
= = | ; gj[ .
G& N
©
—s<ff | 225
— O 1 = [ |
2 | “"Iﬁ! /1 [} 24,0
= | ! S
-
ﬁ DETACHABLE BASE DETAIL
=l o
o]
L]
L
s
=
NS |
b\‘_L’fb

() FUTAO METAL



1TM OCTAGONAL POWER POLE

EP-02

e e

1000/5355JR

5700/5355JRx7.2T

450

5700/5355JRx7.2T

(\)) FUTAO METAL

MAIN POLE
HEIGHT : 1IM

NUMBER OF SECTIONS : 2

e SECTION1:5700MM X 3.8MM
e SECTION 2:5700MM X 3.8MM

STEEL GRADE : S355JR
MAXIMUM LOAD : N0OKG
POLE SHAFT : DODECAGONAL

INSTALLATION METHOD : DIRECT EMBEDMENT

EMBEDMENT DEPTH : 1700MM
TOP DIAMETER : & 120MM

BOTTOM DIAMETER : & 250MM
WELDING STANDARD : AWS DI.]

GLAVANIZATION STANDARD : ASTM A123 / EN ISO 1461

55
30

i
|
Ll

DETACHABLE BASE DETAIL

20



1TM SWAGED POWER POLE

EP-03

Vay i MAIN POLE
HEIGHT : 1IM
NUMBER OF SECTIONS : 3
e SECTION 1: 3810MM X 3.5MM
e SECTION 2 : 3340MM X 4.5MM
e SECTION 3:4750MM X 5
STEEL GRADE : ST-52 DIN
POLE SHAFT : CONICAL (SWAGED)
INSTALLATION METHOD : DIRECT EMBEDMENT
219 (1=3.5) EMBEDMENT DEPTH : 2000MM
6 TOP DIAMETER : @ 237MM
BOTTOM DIAMETER : @ 325MM
WELDING STANDARD : AWS D1.]
GLAVANIZATION STANDARD : ASTM A123 / EN ISO 1461

100] | 250

600
=

1640
1750

3810

410

3340

@273 (t=4.5)
= CROSSARM

1400 -
=

225 (15) &

- B 10-817.5
1220
oL (#=20)

3000

CROSSARM DETAILS

2000

(1) FUTAO METAL o1



13M OCTAGONAL POWER POLE

EP-04

230,

4040

450

4120

13000

3810

2000

@325 (t=4.5)

{856 (1=5)

() FUTAO METAL

MAIN POLE
HEIGHT : 13M
NUMBER OF SECTIONS : 3
e SECTION 1: 4040MM X 4.5MM
e SECTION 2 : 4120MM X 5MM
e SECTION 3:5810MM X 5.5MM
STEEL GRADE : ST-37-2
POLE SHAFT : CONICAL (SWAGED)
INSTALLATION METHOD : DIRECT EMBEDMENT
EMBEDMENT DEPTH : 2000MM
TOP DIAMETER : @ 325MM
BOTTOM DIAMETER : @ 406MM
WELDING STANDARD : AWS DI1.]
GLAVANIZATION STANDARD : ASTM A123 / EN ISO 1461

TOP CAP DETAILS

22



FUTAO
METAL

CONTACT US

www.metalpole.org +86 188 5249 3688
futaometal@gmail.com

23



